Year 9 Measurement: Playground

Name__________________

QUESTION ONE

The diagram shows a scale plan of a park, which needs to be fenced.                                                                          





a) Measure the lengths of each given side to the nearest centimetre:  

AB = 





CD = 



BC = 





DA = 


 

b) Find the perimeter of the park in centimetres:  

______________________________________________

______________________________________________  

c) The diagram uses a scale of 1cm to 10 m.

Calculate the length (in metres) of the fencing needed.

______________________________________________ 

______________________________________________ 

______________________________________________ 

QUESTION TWO

Another park is going to be used as a playground.  

(The diagram is not drawn to scale)




30 m



 70 m



        30 m




   60 m

a) Calculate the area of the park in m2.  

_________________________________________________________

_________________________________________________________

_________________________________________________________

Total area: ________________ 

b) A roundabout is installed in the park.  It has a circular concrete base.  

i)
Calculate the circumference of the roundabout




30 m


70 m


                                                          30 m


  










60 m



__________________________________________ 


__________________________________________ 


__________________________________________ 

ii)
Calculate the area of the concrete base of the roundabout.


__________________________________________ 


__________________________________________ 


__________________________________________ 

iii) If a similar roundabout had a circumference of 12 m, and it took Jake  

one minute to spin around 10 times, calculate his speed in metres per second.   

______________________________________________________

______________________________________________________ 

______________________________________________________

3. Across town a similar playground has an area of 1200 m2.  

Its roundabout covers 20 m2.  

The remainder of the park is to be covered with bark to an average depth of 20 cm.  

The bark costs $25 / m3.  

The council has allocated $6 000 for bark.  

Carry out an investigation to see if this is enough money.  

______________________________________________________ 

______________________________________________________


______________________________________________________

______________________________________________________ 

_______________________________________________________ 

ASSESSMENT SCHEDULE
Year 9 Measurement:  Playground

	
	Assessment Criteria
	Task

No
	Evidence
	Judgement
	Sufficiency

	Achievement
	Use equipment to make measurements

Use measurements in calculations and conversions 


	1a

1b

1c
	AB = 5(cm)
BC = 11(cm)
CD = 8(cm)
DA = 6(cm)
Perimeter = 30(cm)
Fencing = 300(m)
	Allow one measurement error in 1a

Units not required as they are stated in the questions
Carry on from 1a

Carry on from 1b


	Achievement:

2 of 1a, 1b, 1c

	Merit
	Solve measurement problems


	2a

2b i)

2b ii)

2c
	Area of park:

=70x60-½x30x40

= 3600(m2)
Circumference of roundabout:

( x 3 = 9.2477….m
 Area of concrete base:

( x 1.52
= 7.0685…m2
V = 120m
       60s

V = 2(m/s)

	No alternative

Units not required
Or equivalent

Unit required
No alternative

Unit required
No alternative

Unit not required
	Merit:

Achievement 

plus

3 of 2a, 2bi), 2bii), 2c

	Excellence
	Solve more complex measurement problems


	3


	Remainder of park:

1200 – 20

= 1180m2
Vol of bark:1180x0.2 m2
Cost of bark:

1180 x 0.2 x 25

= $5,900

Therefore: there is enough money
	Students must show all working, clearly labelling their steps

Needs a concluding statement
	Excellence:

Merit 

plus

2 of 3

plus suitable concluding statement

	Sufficiency:  Students also need to be assessed on the second assessment criteria for Excellence: “Plan, carry out and evaluate a measuring task.”
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